
jstings and 
WW 4-6-0. 
also avall-

irther mfor-

187 dio 
. 2 5 0 diQ -

2 0 3 dio. 
. 2 5 0 d ia . 

diQ 
- ' * ^47 dr i l l 3 - 4 8 tap 

. 2 5 0 mm deep 

on 168 

^ 4 7 dr i l l 3 - 4 8 tap thru 

on 169 

3 1 - 4 S H O R T H A N D R A I L S T A N C H I O N 
Brass 
2 Required 

3d screw ( 2 3 requ i red) 
-equ i red) 

red 

- . 1 0 7 d r i l l 

- .156 

r 
ickei 

. 3 2 7 s p h e r i c a l d i a . 

. 2 0 3 d r i l l 

i l s tonch ion 

2 0 3 dio. 

Li i i f v 

[ . 375 

. 2 0 3 

-.125 

- . 1 8 7 d i a . 

- . 2 5 0 d i a . 

• ^ 4 7 d r i l l 3 - 4 8 t a p 
. 2 5 0 m i n . d e e p 

on 1 6 8 

dia. 
=^47 d r i l l 3 - 4 8 t a p 
. 2 5 0 m in . d e e p - b o t h e n d s 

on 1 6 9 

3 1 6 L O N G H A N D R A I L S T A N C H I O N 
B r a s s 
2 Required 

. 3 7 5 dio. bol l 

3£ 
I - . 3 I 2 d i a . 

2 7 . 5 0 0 

3 8 2 H A N D R A I L 
.187 O.D. Tub ing 
2 Required 

No. Req'd. Description 
23 #2-56 X % Model RO Hd Screws 
23 #2-56 Model Hex Nuts 

4 #3-48 X V4 Mach. Screw 
4 #3-48 X V2 Thd. Rod 
4 #3-48 Model Hex Nut 
2 #3 Washer 
6 #4-40 X % Model Hex Hd Screw 

13 #4-40 Model Hex Nut 
5 #5-40 Model Hex Nut 

itio^ 

S k e t c h o f 
B A C K S P C T T F A C I N G C U T T E R 
a s s e m b l e d o n m a n d r e l 
i n c u t t i n g p x > s i t i o n 

M A N D R E L 
Drill Rod 
Harden-spring temper 

j f i f i . 

— ^ d i o m e t e r 

• # 2 - 5 6 thread 

p # 4 9 ( .073 ) dril l thru 
- # 4 4 ( .086) drill . 0 9 4 deep 
- # 2 - 5 6 l a p 
— . 0 9 4 ream . 0 6 2 deep 

(use square end' 'D"bit) 

C U T T E R 
V . 0 4 7 Drill Rod 

-7*(grind) f | Harden-
fiil hardness 

-.094 r 

2 3 


